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ogsatt XA 13,000
— = AYI=ZHUSE XN
8,000,000& 13 8,000
— & AYI=ZHUSE XN
5,000,000& 13 5,000
ANAge Az 25t 15,000 38,000 A 23,000
308 XXM SOIA 15,000 38,000 A 23,000
Qb ZSdXIIL4ES 15,000 38,000 A 23,000
Osgegadszd 15,000
—Sggfgoseg A 15,000, 000& 15,000
SHIHE RI& AL 30,000 30,000 0
= 15,000
s 15,000
402 RI2EX=20l M 30,000 30,000 0
< 15,000
s 15,000
02 QI EALEZ (OIS ) 30,000 30,000 0
OZHIEx= A 30,000
— 1195129 & A=EGAY
30,000,000& =14 2 30,000
< 15,000
s 15,000
obl=z XI¥ =4 62,532 90,920 A 28,388
< 6,500
s 56,032
403 UHXISHE X201 E 62,532 90,920 A 28,388
< 6,500
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o 56,032
3ubZsS&EXINEEER 62,532 90,920 A 28,388
OEHIEXZAY 62,532
—oblzs4d N2 (0uz 3 Ul S)
62,532,000 62,532
< 6,500
[ia 56,032
St WRE 2 = 12,960,332 12,725,585 234,747
= 4,663,000
Xl 1,775,000
< 1,096,600
[ia 5,425,732
St& 2tel 610,000 676,600 266,600
= 210,000
< 200,000
s 200,000
St SRl 2tel At 400,000 404,000 A 4,000
< 200,000
s 200,000
401 AIEHI L 2 CHYI 400,000 404,000 A 4,000
< 200,000
[ 200,000
01 A& HI 397,120 401,091 A3,971
OZHIEXZ A (X ot ) 397,120
— UtgtE X2l Ar (100 &)
198,560, 000& 198,560
< 100,000
s 98,560
— X LotE I 2el AL (399 4 )
198,560, 000& 198,560
< 100,000
s 98,560
03 Al 2 THHI 2,880 2,909 A 29
OZHIE=AS (KIESHA) 2,880
— LototE ®7 X 22l At
400,000,000& x0.72% 2,880
ZIIoIAE R X2 4 (4012 21) 210,000 210,000 0
= 210,000
401 A& HIZ 201 8] 210,000 210,000 0
= 210,000
01 A& HI 208,488 208,488 0
O=HIEX ALY 208,488
— 2Itot& R X & 4= At (6.6km)
208,488,000 208,488
= 208,488
03 Al 2 THHI 1,512 1,512 0
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OZHIEx= At 1,512
— = JtotE RN 2= A
210,000,000& *0.72% 1,512
= 1,512
L5t A 8,473,667 8,199,600 274,067
= 4,453,000
< 890,600
e 3,130,067
NeotE Ml (MEictE 2 H) 4,052,000 3,679,600 372,400
= 1,800,000
< 360,000
e 1,892,000
201 L2l 9,600 9,600 0
02 2324l 9,600 9,600 0
O=HIEXAY 9,600
— g MEGE F& MBS
800,000& »12& 9,600
401 AIEHIZL 20 4,042,400 3,670,000 372,400
= 1,800,000
= 360,000
[ia 1,882,400
01 A& Hl 3,731,459 3,360,091 371,368
OZ3HIEx= AL 3,731,459
—EBUAHMESE THAY
3,731,459,000& 3,731,459
= 1,800,000
< 360,000
e 1,571,459
02 2feldl 300,000 300,000 0
O=HIEXAY 300,000
— LA MEGHE =& ALY 300,000,000 300,000
03 Al S THHI 10,941 9,909 1,032
OZHIEx= At 10,941
— S USIHMEGIE THAY
4,052,000,000& *0.27% 10,941
ANeotdEFH (nEo &4 £24) 4,421,667 4,520,000 A 98,333
= 2,653,000
< 530,600
[ia 1,238,067
401 AIEHI L 2 CHYI 4,421,667 4,520,000 A 98,333
= 2,653,000
< 530,600
s 1,238,067
01 A& HI 4,172,728 4,292,796 A 120,068
O=HIEXZ AL 4,172,728
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—TEd 9 J ZEAY
4.172,728,000& 4,172,728
= 2,653,000
< 530,600
= 989, 128
02 Z2ll 237,000 215,000 22,000
O32HIEBEZAY 237,000
— PEA DEOIY XAAY 237,000,000& 237,000
03 AlE 201 Y| 11,939 12,204 A\ 265
O2HIBExZAY 11,939
— PEA NEO 2 XAHALA
4,421,667,000 x0.27% 11,939
=& 22 3,856,665 3,829,385 27,280
N 1,775,000
o 2,081,665
A0 SA AL 306,665 265,385 41,280
101 2124 H| 14 577 13,585 992
04 JI2ZtHIZ22NEE S 14 577 13,585 992
OGtEHUEX BAHIF L SIEX 14,577
- J=2a2 51,7603 1% x200 10,352
—F=5E 51,760& » 1 x40 2,071
— X E 51,760) x 1«7 363
— 8282 12,786,000 x14% 1,791
401 Al HI L £ 0HHI 292,088 251,800 40,288
01 Al&H| 290,000 250,000 40,000
OAGHE SXIZelAF (16700 2 /185km)
250,000,000& 250,000
QetEAGHE AIE 2LIHEY 29 (1IHA/3.2km)
40,000,000 40,000
03 Al 24| 2,088 1,800 288
OAGHE SXIZElAFS (1670 A)
290,000,000 *0.72% 2,088
ASIETH (MHE) 3,550,000 3,564,000 A 14,000
N 1,775,000
= 1,775,000
101 2121 d| 3,106 0 3,106
04 JIZtHIZ22XNSE S 3,106 0 3,106
OXSEg AHANY 3,106
— AOIEEHIAIE BEMNHREX
51,760& 60 3,106
401 Al HI YL = Tl 3,546,894 3,564,000 A17,106
Xl 1,775,000
= 1,771,894
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01 A& HI 3,537,317 3,554,377 A 17,060
OXSZ A A 3,537,317
—Aotd THAHOI At (2SS AcHE 2l 40 a)
3,537,317,000& 3,537,317
Xl 1,775,000
[ia 1,762,317
03 Al S THHI 9,577 9,623 A48
OXS2AH AL 9,577
— A0t FHIAE 3,546,894,000& *0.27% 9,577
Xl Gt==2t el 20,000 20,000 0
< 6,000
i 14,000
Aot |22l A 20,000 20,000 0
< 6,000
e 14,000
401 A& HIZ 2018 20,000 20,000 0
< 6,000
s 14,000
01 A& HI 19,784 19,784 0
OEHIEXAY 19,784
— X5t |Xl2el 19,784,000& 14 19,784
< 6,000
e 13,784
03 Al = THHI 216 216 0
OEHEXZAY 216
— X5t | A2el 20,000,000& *1.08% 216
HRas(erd2e ) 168,733 166,906 1,827
WHEHHX = 168,733 166,906 1,827
J3dEsa(Mt2el) 168,733 166,906 1,827
702 )| SEEZS 168,733 166,906 1,827
0 II2dE3 168,733 166,906 1,827
OEEM =2 342 =822 1/100
16,873,227, 7833 *1% 168,733
HE2IZH (erd 22| nt) 64,256 64,256 0
JlE&dl 64,256 64,256 0
JlE2&l 64,256 64,256 0
201 Let24E] 35,096 35,096 0
01 At 22l 35,096 35,096 0
ORNEA 1,831,000 16X 29,296
O= &l 7,0003 x16H 25 2,800
OZd=AI Xz 250,000 *1CH~12& 3,000
202 4Hl 24,960 24,960 0
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